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Lecture 03
Economics is a social science that studies how people attempt to satisfy their unlimited

wants by carefully allocating scarce resources.

The economic problem is the fundamental challenge facing all societies, which is how
to satisfy unlimited wants and needs with limited resources. Because resources such as land,
labor, and capital are scarce, people and societies must make choices about how to allocate
them.

Economists call this lack of resources scarcity. But here's the real kicker: the global
population is rising, and everyone has wants and needs. Are there enough resources to satisfy
all those desires? Scarcity occurs when society cannot fulfill all its wants because resources

are limited.

let's first try to classify human desires into needs vs. wants. A need is defined as
something necessary for survival. It may sound vague, but essential clothing, shelter, and food
are usually classified as needs. Everyone needs these basic things to survive. It's that simple!
What are wants then? A want is something that we would like to have, but our survival does
not depend on it. You may want to have expensive filet mignon for dinner at least once, but it

is definitely beyond what would be considered a necessity.

A need is something necessary for survival.A want is something that we would like to
have, but is not necessary for survival.

There theree basic economic questions: these questions provide a basic framework for
allocating scarce resources

- What to produce ? How to produce ?For whom to produce ?

1- What to produce ?

This is the first question that needs to be answered if society is to allocate its resources
efficiently. Of course, no society can sustain itself if all the resources are spent on defense, and
none are spent on food production. This first and foremost question helps to identify a set of
things that society needs to sustain itself in balance.

2- How to produce?



How should the factors of production be allocated to produce the required things? What
would be the efficient way to make food, cars..? How much labor force is there in a
community? How would these choices impact the affordability of the final product? All these
questions are densely combined in one question - how to produce?

3- For whom to produce?
Last but not least, the question of who will be the final user of the things made is important.
The choices made when answering the first of the three questions mean that the scarce
resources were used to create a set of particular products.

So. what exactly constitutes these scarce resources we are trying to use to produce the things
we need? Well, economists refer to them as factors of production. In simple terms, factors of
production are the inputs used in the production process. There are four factors of production,

which are:1-Land-2-Labor-3-Capital-4-Entrepreneurship.
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